
Cos^4+sin^4=?,и если не сложно то,
125(cosx^8-sinx^8),если cos2x=0,8


[bookmark: _GoBack]
image1.wmf
(

)

(

)

(

)

(

)

(

)

(

)

(

)

(

)

(

)

(

)

(

)

(

)

(

)

(

)

(

)

(

)

(

)

(

)

65

sin

cos

125

65

,

0

sin

cos

:

65

65

,

0

8

,

0

125

sin

cos

1

2

cos

125

sin

cos

sin

cos

sin

cos

125

sin

cos

sin

cos

125

sin

cos

sin

cos

125

sin

cos

125

sin

cos

125

.

2

65

,

0

01

,

0

64

,

0

1

,

0

8

,

0

sin

cos

sin

cos

.

1

,

0

sin

,

2

,

0

sin

2

,

sin

2

1

8

,

0

sin

2

1

2

cos

8

,

0

2

cos

.

1

.

sin

cos

125

.

2

,

sin

cos

.

1

:

_________

__________

8

,

0

2

cos

8

8

4

4

4

4

4

4

2

2

2

2

4

4

2

2

2

2

4

4

4

4

2

4

2

4

8

8

2

2

2

2

2

2

4

4

2

2

2

2

8

8

4

4

=

-

×

=

+

=

×

×

=

+

×

×

×

=

=

+

×

+

×

-

×

=

=

+

×

-

×

=

=

+

×

-

×

=

=

-

×

=

-

×

=

+

=

+

=

+

=

+

=

=

-

=

-

=

=

-

×

+

=

x

x

x

x

ответ

x

x

x

x

x

x

x

x

x

x

x

x

x

x

x

x

x

x

x

x

x

x

x

x

x

x

x

x

x

x

x

решение

x

x

x

x

найти

x


oleObject1.bin

